Digital Signage - Kiosk

TECHNICAL SOLUTIONS

C2G | CHIEF | DA-LITE | LUXUL | MIDDLE ATLANTIC PRODUCTS | VADDIO | WIREMOLD

Application

Promotional Wayfinding



Display Solution

Flat Panel



Legrand | AV Solutions Include:

Cables & Cable Management
Display Mounts
Networking
Power Distribution
Wall Boxes



	BRAND	MODEL #		DESCRIPTION	QTY	RETAIL/MSRP (EA.)	TOTAL RETAIL/MSRP	SYSTEM TOTAL
MOUNTS	© CHIEF	LF55UWP-B2B		Impact™ Floor Mounted Back-to-Back Kiosk, Portrait 55" (140cm) White	1	\$3,999.00	\$3,999.00	
		LW55UBP		Impact™ On-Wall Kiosk, Portrait 55" (140cm) Black	4	\$1,766.00	\$7,064.00	
		PACFAN1		Impact™ Series On-Wall Kiosk Fan Kit, 30CFM	4	\$299.00	\$1,196.00	\$12,259.00
STORAGE	CHIEF	PAC525F		In-Wall Storage Box with Flange	1	\$72.80	\$72.80	\$72.80
POWER	Middle Atlantic Products	RLNK-P915R		Premium+ PDU with RackLink™, 9 Outlet, 15A, 2-Stage Surge	1	\$1,670.00	\$1,670.00	
DISTRIBUTION		RLNK-215		Select Series PDU with RackLink™, 2 Outlet, 15A	4	279	\$1,116.00	\$1,116.00
	C2G°	29677		6' (2m) High Speed HDMI® Cable With Gripping Connectors - 4K 60Hz	7	19.99	139.93	
CONNECTIVITY,		00694	6' (2m) Cat6a S	nagless Unshielded (UTP) Ethernet Network Patch Cable for HDMI over IP/Over Cat Extension - Blue	8	15.99	127.92	
CABLE MANAGEMENT		29975		4K HDMI over IP Transmitter	1	1599.99	1599.99	
& NETWORKING		29976		4K HDMI over IP Receiver	6	1099.99	6599.94	
		29977		Network Controller for 4K HDMI Over IP	1	1399.99	1399.99	\$9,867.77
				TOTAL ROOM COST				\$23,315.57
To Be Sourced		Flat Panels x6						
From Another Vendor		PC						
NAME:			PHONE:			EMAIL:		







Digital Signage - Video Wall

TECHNICAL SOLUTIONS

C2G | CHIEF | DA-LITE | LUXUL | MIDDLE ATLANTIC PRODUCTS | VADDIO | WIREMOLD

Application

Video Wall



Display Solution

Flat Panel



Legrand | AV Solutions Include:

Cables & Cable Management
Display Mounts
Networking
Power Distribution
Wall Boxes



	BRAND	MODEL #	DESCRIPTION	QTY	RETAIL/MSRP (EA.)	TOTAL RETAIL/MSRP	SYSTEM TOTAL
MOUNTS	©CHIEF	LVS1U	ConnexSys™ Video Wall Landscape Mounting System with Rails	9	\$836.00	\$7,524.00	
		FCAC06B	Wall Display Side Cover Accessory, 6" [2m]	6	\$312.00	\$1,872.00	\$9,396.00
STORAGE	© CHIEF	CSMP9X12	Component Storage Panel, Interface		\$33.60	\$33.60	\$33.60
POWER Distribution	Middle Atlantic Products	RLNK-P915R	Premium+ PDU with RackLink™, 9 Outlet, 15A, 2-Stage Surge	2	\$1,670.00	\$3,340.00	\$3,340.00
CONNECTIVITY, CABLE MANAGEMENT & NETWORKING	C2G°	29677	6' (2m) High Speed HDMI® Cable With Gripping Connectors – 4K 60Hz	10	\$6.72	\$67.20	
		00694	6' (2m) Cat6a Snagless Unshielded (UTP) Ethernet Network Patch Cable for HDMI over IP/Over Cat Extension - Blu	11	\$15.99	\$175.89	
		29975	4K HDMI over IP Encoder	1	\$1,599.99	\$1,599.99	
		29976	4K HDMI over IP Decoder	9	\$1,099.99	\$9,899.91	
		29977	Network Controller for 4K HDMI over IP	1	\$1,399.99	\$1,399.99	\$13,142.98
			TOTAL ROOM COST				\$25,912.58
To Be Sourced From Another Vendor		Flat Panels x9					
		PC					
NAME:			PHONE:		EMAIL:		





Digital Signage - Direct View LED

TECHNICAL SOLUTIONS

C2G | CHIEF | DA-LITE | LUXUL | MIDDLE ATLANTIC PRODUCTS | VADDIO | WIREMOLD

Application

Direct View LED Video Wall



Display Solution

LED Video Wall Display



Legrand | AV Solutions Include:

Cables & Cable Management
Display Mounts
Networking
Power Distribution
Racks
Wall Boxes



	BRAND	MODEL #	DESCRIPTION	QTY	RETAIL/MSRP (EA.)	TOTAL RETAIL/MSRP	SYSTEM TOTAL
MOUNTS	©CHIEF	TIL1X2xx	1X2 LED Mount	7	\$599.00	\$4,193.00	
		TIL1X3xx	1X3 LED Mount	2	\$889.00	\$1,778.00	
		TIL1X4xx	1X4 LED Mount	2	\$1,089.00	\$2,178.00	
		TILSC2Hxx	2 High, Side Cover	3	\$49.00	\$147.00	\$8,296.00
STORAGE	© CHIEF	PAC526F	In-Wall AV Storage Box with Flange		\$146.00	\$146.00	\$146.00
POWER Distribution	Middle Atlantic Products	RLNK-P915R	Premium+ PDU with RackLink™, 9 Outlet, 15A, 2-Stage Surge	1	\$1,670.00	\$1,670.00	\$1,670.00
RACK	Middle Atlantic Products	VWM-4-5-36K-PW	Pre-Configured, 36" Deep, Horizontal Rack with a 4 RU Pivoting Top and 5 RU Fixed Lower, Putty Finish	1	\$889.00	\$889.00	\$889.00
	C2G°	29677	6' (2m) High Speed HDMI® Cable With Gripping Connectors - 4K 60Hz	28	\$19.99	\$559.72	
CONNECTIVITY,		00694	6' (2m) Catóa Snagless Unshielded (UTP) Ethernet Network Patch Cable for HDMI over IP/Over Cat Extension - Blue	29	\$15.99	\$1,135.29	
CABLE MANAGEMENT		29975	4K HDMI over IP Encoder		\$1,599.99	\$1,599.99	
& NETWORKING		29976	4K HDMI over IP Decoder	27	\$1,099.99	\$29,699.73	
		29977	Network Controller for 4K HDMI over IP	1	\$1,399.99	\$1,399.99	\$33,723.14
TOTAL ROOM COST							\$44,724.14
To Be Sourced From Another		Media Control					
Vendor		Displays x28					
NAME:			PHONE:		EMAIL:		







AMAZING AV EXPERIENCES | legrandav.com

 USA
 P 866.977.3901
 E av.support@legrand.com

 CANADA
 P 877.345.4329
 E av.export@legrand.com

 EMEA
 P +31 495 580 840
 E av.emea.sales@legrand.com

 APAC
 P +852 2145 4099
 E av.asia.sales@legrand.com